* Trans-Atlantic aircraft often fly at 37,000 ft. Are they flying in the troposphere or
stratosphere?
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e What is the outside air temperature at 37,000 ft?
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4. The average tropopause height is 17 km in the tropics.

* Using the hydrostatic equation, what is the approximate pressure at the tropical
tropopause?
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» How far below the tropopause do trans-oceanic flights fly in the tropics?
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¢ What is the typical air temperature at the tropical tropopause?
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5. Assume an average global tropopause of 14 km and that the temperature is constant with

altitude (i.e, use a constant scale height of 7 km.). Obtain a mathematical expression for the
fraction of air density that is in the troposphere. What is the actual numerical fraction?
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6. In class, we found that the atmospheric mass is approximately 5 x 10" kg.

e What is the approximate number of moles in the atmosphere?
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e What is the approximate number of molecules in the atmosphere?
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